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Q1. fFdT e & gt (G=rhr ear 10 & 60 & &g §) # S«
100 3 AT &9 A {QaRa i = off, 7 9 Aw yfeala & o afe
faavor & AT gRET & 125 3¢ gidr, AW ffaaRa 3 W@r gar

When 100 balls were equally distributed among students in a class (having
strength between 10 and 60), 7 balls remained undistributed. The number of

balls that would remain if there were 125 balls to begin with is

1. indeterminable. / AYTRT AT fFar ST Fevar
no- of SW"*"@

4: 9 100_— :} N each SRy —> 3




Q. If 6 students occupy a bench, one bench will be left completely unoccupied.
If 5 students occupy each bench, instead, one student will not find a seat. The

=

number of students is

gfe 6 facardl v &9 W 834 §, U oF QU g @rell 99 SATeaf|
mmuﬁsmmﬁw% U facaredt & FureT 8T

an
é 6(1—-\) Q\
1= 6= Srt @




Q2. Yeuts 3R 13 feall & o gl &3t & v |1y 6.00 PM WX
IGTAT gl dTell i ¢of YEAIad &, Jfe ITAT AT 36 ©¢ §, 39 A4l
ﬁmmﬁmmﬁmﬁiﬁ(@ﬁM) HETF BIar?

Itis proposed to mtroduce daily trains between Chennai and New Delhi in
both directions simultaneously, departing at each station at 6.00PM, If the
travel time is 36 hours, what is the minimum number of rakes (train sets)

———

required to run the service?
1.2
, T o 6 2

npy |
l@vm 11

S




Q3.93T & Her 3R Ade &er & a1 3:15 & 9 fohgar
IUT g2

What is the angle between the hour and minute hand of a clock at
3h: 15m?
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Q4.71fd AT & AT A QU v gRa A= # @ *laar w@aifts
GREICES

Of the following which is theSmost precisely}eported value of a speed
measurement? '

1.125km/s

2.12.5 x 10 km/s
3.125.00 km/M LS 202>

4.1.25 x 10 Zkm/s
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Q. Which one of the following represents the most precise measurement of a
length?
mﬁammmmmmmmmm
LT 87
1.2.15 meter | LS dec 2023
2.215 centimeter S
3.21.5 decimeter
.2.150 metexj







Q5. U Ifad U Faa ef &1 2 forevea &r aifad & g &1, 3
frell/ar @ a9 T a T 379e7r, 1 °er s AT odr § T

AU

A person takes one hour more to cover a certain distance walking at a
speed of 2 km/hour compared to walking at 3 km/hour. The distance is

1.4km /4 e
R Q19

4. 10 km / 10 f&aT T,_

{0t AR
d's NAE &X?): & Ko A



Q6.7 BT v AT H TSAT & 38§ dE TT ¢ & 39afass dar
drel foheal 8T aF U1 A U ST T A8l &f

States in the map below are to be coloured so that no two states having a
common boundary have the same colour.

T & FGeTdH AT E&AT &
The minimum numbers of colours needed is

B
4.6




Q7. Hadt &H Weldhe, e hI3IT, glenl, 3R @-W@F A HIH H FFdaul FHl
gfafafca avar a8 3m@ &

The correct diagrammatic representation of the relations among the categories
%\M SPOR%BALL GAMES, HOCKEY and KHO-KHO is Son

g

Select the CORRECT option \j
1.A
2.B




Q. Frfaf@a & & Fia IT 3IN@ HAFEE!, FATHAT IR HTAT & ALY I
HT ol ATIT T Fhar g2

Which among the following diagrams can represent the relationships between

houses, offices and buildings?
LS 2019




Q8.T% dld H IR SIfdm § S X f@enfsadt & s o0 gu & ani
e v St 9%, giood T F 33T ofdl & [@eAfsar r Fol
TEAT [Seglel 39al AT & STl 9g«T I@T g, Jel af ahd! &

A box contains four jerseys with the players’ names printed. The four
players pick up a jersey each at random. The total number of players

wearing their own jersey CANNOT be
K11
D? 1/ LS 2022




Q. TAH Ahr T3 IR gfafsedr &1 fAd a9 B gy gfafcear &
gl Tfgv| U+ Her Ada & @Fey &1 s 315 fear Srar §, 3=3ar
PIS 3iH ool a1 Jrar| AFafaf@a & & i @1 grcdres 39 Ja1 87
All the four entries in column A must be matched with all those in column B.

Each correctly matched option gets one mark and no mark is awarded
?il‘ferwise. Which of the following mark(s) CANNOT be scored?

74 2 8

2
B e
XH 4
%



Q9. 9Td HEATIHT & Hleldh fAueled e ¢ A QU 1T A SlAdr T g

qTgT?
The standard deviation of five numbers is zero. Which of the followin@
true? N
1. All the numbers are zero / THT JEATT [ 8 ><
2. The median is zero / #TCTRT [ g
3. If at least one number is positive, then at least one number is negative / If¢
FHHA-B-FH T AEAT YATcHS g, dd HHA-O-FH Tdh &I HUMHS ¢

7 The difference between the median and mode of these numbers is zero / a1

Mﬁﬁmﬂawﬂmeﬁ\?/




Q11.ufday Remfdat &r [Affe @at & ggsnfaar
FHICY X (FeF3) aR I adrar &

The stacked bar chart shows the year-wise students’
participation in various games.

ad BT 7T [t 7 & HlaAr Uh ITad & ?

Which one of the following inferences is INCORRECT?

1. In 2004, athletics was the most popular of these games.
2004 #H, 37 Wail A ¥ tdifedy gaIfs dleog AT
2. The year 2003 witnessed highest participation in these
games. /an‘r 2003 # 3T Wdll A HFHdH HeHATRIAT SHET
g Ar

3. Among all the years, the popularity of Tennis was the highest

in 2005. / ¢ asf & &=, aﬁzoosﬁéﬁnﬁaﬁm
garas A

4. In 2003, more students played Badminton than Cricket and
Tennis combined. / @¥ 2003 #, e 3R AT @aa g
ﬁ:’amﬁmﬁauwmaﬁrmﬁagﬁm@m}ma
et @ @& 3w N

-~




Q11. The stacked bar chart shows the year-wise
students’ participation in various games.
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N
-

Which one of the following inferences is
INCORRECT?
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‘Al 2004)(1thlet1cs was the most popular of
these games.

2. The year 2003 witnessed highest.
participation in these games.

/Among all the years, the popularity of Tennis
was the highestin 2005.

4. In 2003, more students played Badminton 2001 2002 2003 2004 2005
than Cricket and Tennis combined. Year
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Q12.T& UThR fASYET 9rF & 5 R el JATdm ¢ 3R §H THT 5
dR], 1 or@r wos Y W fATar § ©6 e A 38T Boleh ol 9red
L T UIASar g

A fair cubie die is rolled }E‘rr(es and we get'the face with numb@ll 5
timesOn top. The probability of getting the same face on the sixth trial —

1S,
1. (1-5/6)(1/6)

X (1/6) P=x . L
3.(1/6)° T G
4.5/6



Q13.3f¢ 22 x5°=5003 a @ bqUllsh §,dd a+bg

If 22 x 5°=500 and a and b are integers, thena + b is

e

mdeterrnmable / TenRa g1 a1
ath

2|H0OO a E X & 23

= 2 N
u;:_gs 0%7_, -
N

(






%1§.WW$mmmﬁmmﬁ(M)

A%
7~ {
The sum of all the internal angles of an degrees is

1. 360
R T R
4. 600 (6%
4 x\80

72



. M HAT, TUH 19 SHEAT d&h Co g IT 20 ¥ 29
SHISAT I $r ST dl, sHs HAT 10% "¢ Adr & 3R 30 g 30
' o TC ST & IS 120 ghrsam @AY ST, Thig
At gHS HAT B Co ypio
The wholesale price per unit of an ite%‘ig Coup Yo first 19 units. The unit price falls by
10% if 20 to 29 units are purchased, and by another 10% if 30 or more units are
purchased. If 120 units are bought, the unit price paid is

(oY_Eg_;_/: 0¥ (o

2.0.97 Co
|(517

1
3
1
A
!

3.0.91 Co
4.0.81Co )




Q16.T& oFd &fdst 939 H U [ARAd HAAda! & § 9T &l gfFad fohar

STAT & 9189 FT ars & 1Y 3T a1y gRafad giar g5 & Ry &
fe@mar =ar g @

Water is pumped into a long horizontal pipe at 6 fixed volumetric }ate. The
diameter of the pipe changes along its length as shown in the figure. &

qredr r It

The speed of water is
1. the same in sections S, S, andS, / @Usl S, S,d S, # UHTATA g

2. lower in section S, compared to the other sections./ 3= @Usl $I HI&T TS

HEHE
\@higher in section S, compared to the other sections./ 3=d @USI I & @3
S, H 3k &\
4. reduces gradually from S, to S, / S,& S,de €R-¢fX "edr &



Q17. Y Forst A T BN 3[a A wFarS 5 IS §, IR UATHS
wﬁxm*mmmﬂvﬁﬁ% Ul |@HIAT 8IS Hr
qET &

If the length of the smallest side of a triangle is 5 units, and the sides are in
arithmetic progression with positive integer difference, the number of such
possible triangles is

1,

@i—\) d=1= ‘5//\5,?‘

2 15nﬁni O{:Z—% o ’:{ ’q‘
:g% 53_, g p [l

> 2

LS5




Q18.X U JThR ¢oh W &l F 40 Ahs H T TdFal QU N @ &
3 gaeR & W Y A9l feer & dls # XA 9AF 15 Aehs A
U &l § Ueh TaFehd qU il H Y SarT folar A7 s # §
X is running around a cnrcular track completing one round every 40
seconds. Y running in the opposite direction on the same circular track
crosses X every 15 seconds. The time in seconds taken by Y to complete one
round is
1.1
mﬁ
3.30
4.36




Q19.T& Held # F& Y IR sy ¢ Ife /A & wear 33 § IR R &
TE&IT 84 §, mn@ﬁmwn@ﬁmﬁm%ﬂmmﬂ

In a field there are some cows and ducks. If the number of heads ar@nd
number of legs ar hen what would be the ratio of the numbers of cows to
ducks? ]

1.5/6 \
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Q19.T&h Held & Fo MY IR sad § Ifc A &r dean(33)8 I R &
#@r@,aﬁmﬁMwmaﬁrmﬁ ATl fehclal @12
In a field there are 55 e cows and ducks. If the number of heads ar@nd

number of legs ar hen what would be the ratio of the numbers of cows to
ducks?

4.3/5

Cow= 1S

X
=2

cC D
= QCou 2; .:2?

Pucle = -




Q20. In the given sequence of figures ,Which of the following is
the next figure

Select the CORRECT option
1.A :

2.B
3: L
4.D
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Q15.T&h ofd JAIT AF & R HI dheh dI FAG h 3R ATUR & 3IAH rg 36
$h B TS IUR & FHR HeT ST § $b B MY F el g | Fer
S T Qi AN & ATl UHTHATA gl7?

A cake in the shape of a right circular cone of height h and base radius r is to be cut
parallel to the base. At what distance from the top sheuld.the cake be cut to get two
parts of equal volumes?
Tl fashed ga

Select the CORRECT option




Q18.¢e A 09:m mrm‘&so ¢ W “‘.}2

0
g'«‘n ¢ ¢ B11:30 6 W TR Y& W fia 15:00 B W 7208
R il s i iR B
A &, ¥ A Uh-g A FE gAT qR FEM? A
Train A leaves station X at 09:30 hours and reaches station Y at 13:30 B=226%—
hours. Train B leaves station Y at 11:30 hours and reaches station X at

15:00 hours. Assuming that the two trains travel gtcqonstant speeds, at  — 8‘(«"4 2
what time do the two trains cross each other? %
1. 14:00 hours /14:00 € ‘

ng 3:24 hours /13:24 6 e |75 2 ke
% 0 P ours /12:26 ©¢ \
4. 11:30 hours /11,30E p: 'Nx()@







Q20.5 A, 6 AR 3R 7 el Fr HrAT 3250 §, Fdfe 6 I,
4

WaﬁTZE’ow‘rﬁﬁm%180%4W3ﬁ18&’m T
HHAT (H) ©

S apples, 6 oranges and 7 bananas cost 250 while 6 apples, 4

oranges and 2 bananas( cost 180. The cost (in) of oranges and 8 IS
bananas is SA+6 Q-l-:[ R=2 o) - IB=
1.210 GA +40+2B8 = \&O .h?(fo_‘_l’ 5=
2.180 \ / 4 “qw

!‘ 1 ! 1 ks

“indeterminable /fAYTRT 8! £r ST "l & 16(D+328= 60()
W%-‘r SIS






%CSIR NET ADDA247

Your One Stop Solution For

CSIRNET GATE SET PSC
§ Other M.Sc. § Ph.D Entrance Exams

ENROLL NOW

f LIVE BATCH Al [ A \
| !R NET FOUNDATION BATCH
LIFE SCIENCES

TARGET Exam (CSIR, GATE.

— June 2025 -—— DBT, BARC, ICMR, ICAR)

® ¢ 4 8
& e L £ 4o

Starts: 10, Mar | 10 am to 5 pm

J J

Q "

1T

Handwritten Exam Job Alerts Youtube
MNotes Notification & News Classes PDFs

JoinUson & o @


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
http://www.sscadda.com/
http://www.bankersadda.com/
http://www.adda247.com/
https://applink.adda247.com/d/XhqWf9lSap

